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�~�~x}v v�}~�{|z � z ��t~t{� �| �|�uv�x|{t~�|v¡x� � £ t|� � }�~w��~�{� � xu�|}�~wx�� x���v������~� � ¡ �vx~vx| �v~�vu��ux � |�|}� �~��~x}v� � � |zuxt M = 38 �z �v~�|wux � �~�~x�}v�� {~�� P = 8 � � � �|v¡x� �F = 4 � � � ¡t|���� �{{� �~�~x}v� v��x� �� ��� �|v¡x� � � ��� ¡ t|��� � ¾ ��� � u��x~�z v�{�|�|wux � �|v~�|xt��yx|���|{�|{t~ � � ��t~ ���|�|u �{�|vux~u �~�~x}v� �v~
ϕ = π/2 � ϕ̇ = 2 {−1 �
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�~�~x}v v�}~�{|z � z ��t~t{� �| �|�uv�x|{t~�|v¡x� � £ t|� � }�~w��~�{� � xu�|}�~wx�� x���v������~� � ¡ �vx~vx| �v~�vu��ux � |�|}� �~��~x}v� � � |zuxt M = 34 �z �v~�|wux � �~�~x�}v�� {~�� P = 18 � � � �|v¡x� � F = 4 � �
� ¡t|��� � �{{� �~�~x}v� v��x� �¯ ��� �|v¡x�� ¬ ��� � u��x~�z v�{�|�|wux � �|v~�|xt��yx|���|{�|{t~ � � ��t~ ���|�|u �{�|vux~u �~�~x}v� �v~
ϕ = π/2 � ϕ̇ = 1 {−1 �
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B z�{{|� � �� ��w}�� {|u}~xux�{tuvwxuz }�~x|� � z z�{{|� ¾ ��� � {tuvwx� �v~��|wux z|zuxt M = 24 �z � � �|���x� A

� {~��
F = 10 � � � u��x~�z v�{�|�|wux � �|v~�|xt��y�x|� ��|{�|{t~ � � ��t~ ���|�|u �{�|vux~u {tuvwx�
�v~ sinα = 3/5 �
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ª~{�~ � ~ � ~zu�t |}~x��|��� z�{{� ¯ ��� x��|�}�t{� � ���u��ux~~ }v�� { }v��|z ~ ���vu��ux� x�{tuvwx�� � �|t|v�u {�|�y��t �| ���~zx| �uv�ux�}~����vx�� x��v������~� � ª ~{� � ���vu��ux x�{tuvwxu ¡ �vx~vx| � }~{� � � wu{t�| � µ{~ }~{�|�{|u}~x�ut {tuvwuxy z�{{|� ¯ �° ��� � }~{�� � �v~��|wux z|zuxt M = 240 �z � � {tuvwx� � x� �|t|�v|z ���vu��ux }~{� � � �v~�|wux� {~�� P = 60 � �ª �x� v�}~�{� ¶
r1 = r2 = 2 z � � u��x~�z v�{�|�|�wux � �|v~�|xt��yx|� ��|{�|{t~ � � ��t~ ���|�|u�{�|vux~u {tuvwx� �v~ α = π/6 �

������ ���� �md � r % "� &%U T Æ

'$
1

2
-~F

α

²|���~�~x}v z�{{|� �¢ �� v�}~�{|z � z {�|�y�~t�| ���}�|� ��|{�|{t~ � ²| u�| �|�uv�x|{t~ ��t~t�{� }~{� z�{{|� �¢ �� v�}~�{|z °¢ {z � ¡ �vx~vx|���vu��uxx�� x� ¡t|�u � � � |{~ }~{�� ~ �|���~��~x}v� x�}ut� ���x�� }�~x|� ¬ z � � �|x�� �|t|v|��v~�|wux� {~�� F = 45 � � � u��x~�z v�{�|�|wux
� �|v~�|xt��yx|� ��|{�|{t~ � � ��t~ ���|�|u �{�|�vux~u ���x�~ �v~ α = π/6 �
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T =
q̇2

2
(A+ B sin2 q)

âã
T = q̇2

2
(A+B cos2 q + C sin q) �



ä åæç è åæç èéêëæì í
Q Qîïðñ A Aîïðñ B Cò óô óô óõö óõö ÷ ø ùv�~�|� ª �x~~�ú óú ó òúû öô öô ø ���~üu�� � �v~�õ ú ú úõ òû ó òý �����~x suzþxô úý ú÷ôÿ� �û �û òô�ÿ�ý ú �÷ô ø �u{���y�| ù�u�{�x}v� ó òû ó òû ó òû ó òû ò ò ø �|�z�t|� ���t~þvö óô óû ú ø ø �|x}�vux�| �~�|���� õ òôô ôû ý �|v�|� �|v~{û ú òýú úõ ø úý �����~x ªz~tv~�÷ óû ó òõö ø ò� ø ý �|v|x|�� ���tuv~x�òý óú ý ø ô ø û ���}uu� �~�|���òò ô òö ô � �v~�|� � �}~zòú óô ó ò� ò�ÿô õ ��� ø ª���}|� �~v~��òõ ö ú� ��õ ò ø ô ªv��x|� ùxt|xòô � òý úû � òý� ��|v|�� ��ux�ò� ò ôô õô òò òý� ����|� ��|vòö ö ó òö ú �ö� ó ó ���u�~x � �v�ò� ö ó ÷ö òö ó ó 	 {�u� ª 
x~òû ú ó óö� �� õõ ��� ó ó � ���x|� � ��uv~�ò÷ óûÿ� ó ò �ö óúýý óúýý òú� ø �~vuux�| ���}~z~vúý óö ó ò÷ú õú õú ø �~v~��|� ���ux~�úò û û òúû úô óúý �~{u�u� �~��~�úú óôý óôõúÿ� óûö �ô �ôÿú� ú �òö ø �|��u�� �{ux~�úõ ó÷ ó÷ ó òúõÿú óö ò �� ô òÿòú õ �ôú ø �|x}~x ù�u�{�x}vúô ý ý ÷ ø ø �|vü��~x 	��xú� ý ý �ô ý ��ü��uv~� � �¡ �úö ô òöú úö ø úý � |��~xux�| � ��uxt~x�ú� óõ ó òû ø ö ø ý � |��~x|� � u}|vúû ó÷ ý ø ý ø òôô ����| �{ux~�ú÷ ò úú úú � �|~{uu�� ùx�{t�{~�õý ó�ú ó ò÷ô ÷�ÿõö ú �� ø ��{�x��~u� � ��|zu}õ ò õ �õ �ú � ø òú ����x|� ���}~{���õú ô ûý òý õ òý� �~���~x� ù�~x�õõ � òôý òô ú òô� µ�yzu�|� µz�võô òû ó öö õ �ö� ó ó µv���u�|� �~v~��õ� � ó ô� ÷ ó ó µ��|��|�� �~x�~}�õö ú ó óö� �� õõ ��� ó ó ² ����~��~� suv�u�õ� õÿú ò �� úô úô òö ø ²uvu���t|� ùx}vu�õû óõ óô òô òõû òõû ø ²~�uxy�| ùxx�õ÷ ú ú úý úõ óúý ²|�y¡~�|� ù�u�{�x}vôý ôý ôô òÿ� ûû �ú ôô òÿúýý ú �ú ø ²v|x~x suv�u�ô ò ó òú ó òú óôý óôý òýÿõ õ �õõ ø «|{���|� �u|v�~�ôú ö òû õ ø ø s~v~� ��~���ut�ôõ óõ ó�ú úô ý s|�|�yþ� ù�u�{u�ôô ú öý úú ø òý stvu��|� ���}~{���ô� ó÷ óöõ ø � ø ý s��|x�~x ���}~{���ôö ó ò� ý ø òö ø öû 
~�|� suzuxô� � �� ò� � 
v���x|� ùx}vu�ôû óú÷ô ó ò÷ûö õõ òÿô÷ ö ��ö ø �vz�x �~�~t�ô÷ � û� �òû ú ø û �|vt��yx|� stu��x�ý ò ôö õú � òô� ��{x~�v|� ù�y�uvt�ò ú ôú úò ò� ý� £�vüu�~ü ª ux~{�ú ÷ ó õý õ �õõ ó ó £ z��|t~x ùvt�v�õ õ ó õöý òúý ó ó £ �z~�|� ù�u�{u��ô ò ó óõõ ��� õõ ��� ó ó � ��|vx�� � �
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